BT TRIA O - HEHHEE X T ﬂﬁﬁkjeﬁosﬁ KIRHE
+H D - 3y D
X 74241 158,928 75,598 83,330 |2 ILUETAT 743 1,844 863 981
E 4,647 9,839 4536 5,303
BEKET1T 894 1,852 897 955 |ER EEFZHT2T 1,401 3,223 1,534 1,689
BEKET2T 362 796 383 413 5 1,401 3,223 1,534 1,689
B 1,256 2,648 1,280 1,368 |R=E~EET1T 71 192 85 107
< FE] BT 9,039 21,702 10,298 11,404 |EHE=E+~ER2T 289 576 2717 299
Lt RER1T 341 546 271 275 |R=E~ ERI3T 453 1,050 508 542
Tt RERT2T 240 429 197 232 |R=E~ER/T4T 210 423 196 227
Lt RER3T 260 460 244 216 |R=E~ ERI5T 362 658 342 316
Lt RERT4T 158 293 146 147 st| 1,385 2,899 1,408 1,491
Lt RERST 146 302 155 147 | KSI1RBT1T 770 1,667 791 876
Tt ERERGT 94 223 115 108 | KEZFHET2T 910 1,878 895 983
TtERER7T 81 174 80 94 | 1,680 3,545 1,686 1,859
Tt ERERST 129 217 106 111 |ERERT 87 191 90 101
g 1,449 2,644 1,314 1,330 [E RERT2T 149 331 170 161
tfEBET1T 281 574 276 298 (BB RERI3T 370 880 394 486
tfEBET2T 1,184 2,592 1,208 1,384 |FARERTAT 280 477 194 283
tfEBET3T 1,034 1,912 942 970 B RERIST 143 305 145 160
tfEBET4T 935 2,080 1,021 1,059 | 1,029 2,184 993 1,191
g 3,434 7,158 3,447 3,711 |F{EEET 2,207 4915 2,415 2,500
ERATET1T 623 1,523 764 759 | = AHT 242 442 215 227
ERATET2T 364 837 395 442 |BEEERMET1T 257 490 228 262
ERATETST 369 838 399 439 |BEE ERMET2T 570 1,168 567 601
g 1,356 3,198 1,558 1,640 (B EEFRMAETST 731 1,550 724 826
==Yl 1,052 2,195 1,059 1,136 (B E B RMET4T 701 1,347 662 685
HEWEET 256 507 232 275 |BEE BRMETST 693 1,617 784 833
HERE2T 424 709 310 399 B 2,952 6,172 2,965 3,207
HEWREIIT 260 478 239 239 |[BEEMBILAT1T 214 362 164 198
HEWE4AT 126 272 126 146 |BEE EHBILRT2T 467 939 443 496
g 1,066 1,966 907 1,059 |BEE BRI T 525 1,101 534 567
HEREET 1,630 3,064 1,342 1,722 | B#EILET4T 617 1,303 623 680
HEREET2T 2,686 5,617 2,645 2972 |BEEHBILATST 738 1,683 810 873
HEREEIST 2,966 5,738 2534 3,204 51| 2,561 5,388 2,574 2,814
HEFETAT 2,010 3,768 1,655 2,113 |EE BT 1,038 1,999 971 1,028
HEFETST 1,310 2,776 1,323 1,453 (B BiBAT2T 144 305 160 145
£t| 10602 20,963 9499 11464 (B EEMATST 2,241 4,480 2,161 2,319
HUEET1T 781 2,173 1,070 1,103 B 3,423 6,784 3,292 3,492
HYERT2T 532 1,315 639 676 |BEETZET1T 659 1,408 653 755
g 1,313 3,488 1,709 1,779 (BB BHlZET2T 474 1,003 468 535
MEET 444 966 474 492 | BEETZEI3T 317 760 364 396
EET2T 342 823 396 427 B 1,450 3171 1,485 1,686
g 786 1,789 870 919 |BEEEARETTT 671 1,322 659 663
WHAEET1T 727 1,872 891 981 |BEEEARET2T 265 603 292 311
WHEEET2T 214 480 233 247 |BEEEARETST 1,040 2,607 1,281 1,326
RT3 T 761 1,632 815 817 B 1,976 4532 2,232 2,300
g 1,702 3,984 1,939 2,045 |EE BMEmRET1T 308 691 334 357
RKEIRAT 5825 13,040 6,304 6,736 |EE BMEmMAET2T 233 467 228 239
hRERTT 275 536 257 279 |BEE EEBET3T 609 1,303 643 660
hRER2T 190 342 149 193 g 1,150 2,461 1,205 1,256
hRERST 234 506 242 264 |J\TFdt 96 196 88 108
hRERT4T 266 526 257 269
B 965 1,910 905 1,005
o A BT 605 1,282 617 665
hEEEET1T 591 1,261 594 667
hEEEET2T 789 1,310 601 709
hEEEETST 456 1,139 537 602
hEEEET4T 737 1,463 717 746
hEEEEST 840 1,697 805 892
hEEEET6T 3,297 6,133 2,925 3,208
5t| 6,710 13,003 6,179 6,824
P =T 882 2,207 1,085 1,122
BAFBILETTT 1,050 2,171 1,036 1,135
BXEFILET2T 992 2,221 1,061 1,160
BAEFILAIST 1,862 3,603 1576 2,027




